A=

S, il Eicing

Made in Japan

SUZUKI GSX-R1000 '05-'06
REAR SETS (part# s-Gsx105Rs)

- Longer side of STUD BOLT
' 20 (#1) should go in the peg.

[L]

@
Flat side of PEG BEARING COLLAR 10 (#9) "@ 2
should face STEP PLATE (#8). with the stepped
side facing out toward shift pedal bearings.

*ADJUST THE STOCK CHANGE ARM
WHEN INSTALLING SATO REAR SETS.

[R]

Smooth side of PEG WASHER M8 (#14)
should face brake pedal bearings, with the
rougher, flat side facing out toward peg.

satoracing.com

4 4
=
9 '\@ Left-hand threaded -

e Turn Right to loosen

Longer end of STUD BOLT
(#1) should go in the peg.

Flat side of BEARING COLLAR SUS (#8)
should face STEP PLATE (#6), with the

rounded side facing out toward pedal bearing.

-3

L

O©COoONOODRWN =

1 SIDE

. STUD BOLT M8x65mm [STBT-L]

. SOCKET HEAD M8x15mm [sBT-M815] X2
. SOCKET HEAD M6x20mm [SBT-M620]

. BUTTON HEAD M6%10mm [BBT-M610] X2
.BUTTON HEAD M6x20mm [BBT-M620]

. BASE PLATE [L] [s-GSX105BP-L]

. HEEL GUARD [L] HG-8L]

. STEP PLATE [L] [S-GSX105SP-L]

PEG BEARING COLLAR 10 [PEGBGCLR-10]

. SHIFT ROD 130 [sRD-130]

. FOOT PEG |[PEG]

. PEDAL TIP (DELRIN) [sT-001D18]

. PEG WASHER M8 [pws-g]

. SHIFT PEDAL 60-70 [sPD-0102]

. MALE REVERSE ROD END M6 [RDED-M6L]
. ROD END COLLAR 3 (GD) [RDED-CLR3]

JAM NUT M6 [NT-6] X2

. STUD M6 [sTUD-Mé]
. REVERSE JAM NUT M6 [INT-6L]

20. FLANGE NUT M8 [FNT-8]

13 Smooth side of PEG WASHER M8 (#13)
( should face Shift Pedal bearings, with the

. FOOT PEG END CAP [sT-002]

rougher, flat side facing out toward peg.

21

[R] SIDE

O©CoONOOOPR,WN =

No

. STUD BOLT M8x55mm [STBT-S]

. SOCKET HEAD M8x15mm [sBT-M815] X2
.BUTTON HEAD M6x20mm [BBT-M620]
. BRAKE ROD M40 [BRD-M40]

. BASE PLATE [R] [S-GSX105BP-R]

. STEP PLATE [R] [s-GSX105SP-R]

. BRAKE PEDAL 150 [BPD-1]

. BEARING COLLAR SUS [BGCLR-SUS]
. PEDAL TIP (DELRIN) [sT-001D18]

. FOOT PEG [PEG]

. FLANGE NUT M8 [FNT-g]

. PLAIN WASHER M6 [ws-6]

E-CLIP [EcP-6]

. PEG WASHER M8 [Pws-8]

. BUTTON HEAD M6x25mm [BBT-M625] X2
. HEEL GUARD [R] [HG-1R]

. BASE PLATE COLLAR 5L(BK) [BPCLR-5]
.FOOT PEG END CAP [sT-002]

t Pictured:
BRAKE LIGHT SWITCH P-1.25 [Bsw-125]
BRAKE HOSE

10mm Back 30mm Up

POSITIONS
[ 7][_10mm Foward ][ 10mm Up
z 10mm Foward 20mm Up
[ 3] _10mm Foward || 30mm Up
(4] Oomm 10mm Up
[5][_Omm 20mm Up
E Omm 30mm Up
[ 7][__10mm Back 10mm Up
E 10mm Back 20mm Up
9

All measurements are in relation
to stock position (0 mm)



